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Name: ___________________             Class: ___________ 

 

Subtraction word problems: 
 

Read the word problem, count the pictures, cross out 

the removed items, and solve the problem. 

 
 

There were 10 blocks. 5 fall 

down. How many left? 

 
 

____  -  ____  =  _____ 
 

 

 
 

 
 
 

 
 

 

Tom had 9 coins. He spends 4. 

How many left? 
 

 

____  -  ____  =  _____ 
 

 

 

 
 

 

 

 

 
 

There were 12 leaves on the 

tree. 7 falls. How many left? 
 

 

____  -  ____  =  _____ 
 

 

 
 

 

 

 


